Run 5589 triggerwise, sums: All Run 5589 triggerwise, sums: Beam OFF
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Run 5589 triggerwise, sums: Beam ON, Laser ON Run 5589 triggerwise, sums: Beam ON, Laser OFF
_ %10
50000 [F- — Helicity==0 i n — Helicity==0
Il — Helicity== T — Helicity==
| Endries: 423058 1]
ao0000 [+ 1200
:: Mizan: 12374.0213 + 133582 T
I 100
| Stdl Dev: 9231.2280 +- 9.4528 L
30000 [
| Endries: 482557 an - Endries: 259728
H Mean: 12349, 2822 - 13,3574 EE Mean: 3502.0982 +- 16,7850
20000 i Std Dev: 8275.9229 +- .8451 60 [ Std Dewv: 9575.5290 +- 13,2658
| A0 [ |
10000 — —
B a0 —
'D_""l""l""' AN T T T T T O I N Y I B D_|—|"7—:|--||||||||||||||||||||||||_||_||||||I

0 10000 20000 30000 40000 50000 80000 70000 BOOODO 10000 20000 30000 40000 50000 60000 f0000  BOOOO

=



